
Nr.  2 TS M5x25

Nr.  4 TS M5x35

Nr.  1 Ethernet patch cat5e UTP 3mt

Nr.  1 Power patch DC 3mt

Nr.  1 TS5011 MICROTOUCH holder

Nr.  4 Rubber feet  Ø 30 mm h 6 mm

2

1

3

K
IT

 i
nc

lu
de

IT
A

LI
A

N
O

vit i  TS M5x35

vit i  TS M5x25

Assicurarsi che sul fondo della base siano stati
posizionati i 4 piedini in gomma in prossimità
degli angoli, quindi fissare il palo sulla base
con le 4 viti M5x35
 
Con la base in posizione orizzontale inserire i due
cavi prolunga (ethernet e alimentazione DC) dal 
foro della base fino alla parte superiore del palo… 
 
Fissare la staffa di supporto TS5011 sulla parte
superiore del palo con le 2 viti M5x25

Make sure that the 4 rubber feet have been positioned
near the corners on the bottom of the base, then fix
the pole on the base with the 4 screws M5x35
 
With the base in a horizontal position, 
insert the two extension cables 
(ethernet and DC power supply) 
from the hole in the base to the top of the pole... 

Fix the TS5011 support bracket on the top 
of the pole with the 2 screws M5x25

Assurez-vous que sur le fond de la base, les 4 pieds
en caoutchouc ont été placés près des coins au bas 
de la base, puis fixez la barre sur la base avec 
les 4 vis M5x35
 
Avec la base en position horizontale, insérez les
duex rallonges (Ethernet et alimentation ), du trou
de la base jusqu’au sommet de la barre. 
 
Fixer le support du TS5011 sur le dessus de 
la barre  avec les 2 vis M5x25.  

1

2

3

1

2

3

1

2

3

EN
G

LI
S

H
FR

A
N

Ç
A

IS

CO
D.

 T
S5

01
4

9
6

0
 m

m

80x80 mm

400 mm

400 mm

Ø 30 mm


